
 

Page 1-4 2001/2002 DS Golf Cars Illustrated Parts List

G

E

1

Club Car

5

3

4

1

2

15

TYPICAL
8 PLACES

TYPICAL
2 PLACES

14
TYPICAL

2 PLACES

12
13

TYPICAL
6 PLACES

10

11

TYPICAL
2 PLACES

9

6

18

8

7

17

16



 

ITEM PART NO. DESCRIPTION

 

1    2    3    4

 

2001/2002 DS Golf Cars Illustrated Parts List Page 1-5

E

G

1

 

QTY
GAS

QTY
ELEC

 

1 1017080 Kit, Front Bumper (includes items 2 - 5) ..................................................... 1 1
2 1016868 Bumper, Front ........................................................................................ 1 1
3 7251 Screw, Phillips Truss Head, 5/16-18 x 1 ................................................. 2 2
4 7473 Nut, Nylon Lock, 5/16-18 ....................................................................... 2 2
5 1016967 Rivet, Push Type Blind ........................................................................... 2 2
6 1014198 Nameplate – Gold ...................................................................................... 1 1
7 101692501 Body, Front – Beige .................................................................................... 1 1
7 101692502 Body, Front – White .................................................................................... 1 1
7 101692504 Body, Front – Gray ..................................................................................... 1 1
7 101692506 Body, Front – Red ...................................................................................... 1 1
7 101692509 Body, Front – Royal Blue (Pacific Blue)....................................................... 1 1
7 101692510 Body, Front – Dark Green .......................................................................... 1 1
7 101692511 Body, Front – Black .................................................................................... 1 1
7 101692512 Body, Front – Classic Blue (Navy) .............................................................. 1 1
7 101692513 Body, Front – Burgundy .............................................................................. 1 1
8 101693901 Body, Front with Headlight Opening – Beige .............................................. 1 1
8 101693902 Body, Front with Headlight Opening – White .............................................. 1 1
8 101693904 Body, Front with Headlight Opening – Gray ............................................... 1 1
8 101693906 Body, Front with Headlight Opening – Red ................................................ 1 1
8 101693908 Body, Front with Headlight Opening – Royal Blue (Pacific Blue) ................ 1 1
8 101693909 Body, Front with Headlight Opening – Dark Green .................................... 1 1
8 101693910 Body, Front with Headlight Opening – Black .............................................. 1 1
8 101693911 Body, Front with Headlight Opening – Classic Blue (Navy) ....................... 1 1
8 101693912 Body, Front with Headlight Opening – Burgundy ....................................... 1 1
9 1011014 Trim, Front Body ......................................................................................... 1 1
10 1010435 Screw, Round-Head Square-Neck, 5/16-18 x 1 ......................................... 2 2
11 1241 Washer, Flat, 5/16 ...................................................................................... 2 2
12 1011017 Screw, Flange Lock .................................................................................... 6 6
13 1011394 T-Nut, Slab Base (package of 4) ................................................................ 1 1
14 101347501 Bumper, Side Guard Trim ........................................................................... 2 2
15 102310701 Screw, Hex Washer-Head, #8-18 x 3/8 ....................................................... 8 8
16 1015032 Mat, Floor ................................................................................................... 1 1
17 7473 Nut, Nylon Lock, 5/16-18 ............................................................................ 2 2
18 102259001 Emblem, IR, Golf Car (for 2002 vehicles) ................................................... 1 1

 

FRONT BODY


